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General Instructions :

(t)

(1)

(iii)

(i)

(v)

(v)

Question paper contains 37 questions. All questions are compulsory.

Question paper comprises six Sections— A, B, C, D, E and F.
Section A — Question Nos. 1 to 20 are MCQs of 1 mark each.

Section B — Question Nos. 21 to 24 are Very Short Answer Type
Questions, carrying 2 marks each. Answer to each question should not

exceed 40 words.

Section C — Question Nos. 25 to 29 are Short Answer Type Questions,
carrying 3 marks each. Answer to each question should not exceed 60

words.

Section D — Question Nos. 30 to 33 are Long Answer Type Questions,
carrying 5§ marks each. Answer to each question should not exceed 120

words.

Section E — Question Nos. from 34 to 36 are Case Based Questions with

three sub questions and are of 4 marks each.

(vit) Section F — Question no. 37 is Map based, carrying 5§ marks with two

parts, 37(a) from History (2 marks) and 37(b) from Geography

(3 marks).

(viir) There s no overall choice in the question paper. However, an internal

(ix)

32/1/3

choice has been provided in a few questions. Only one of the choices in

such questions have to be attempted.

In addition to this, separate instructions are given with each section and

question, wherever necessary.
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wUE - % (20 x 1 = 20)

(SgfrReda w9 )
1. Frafofaa # & s o1 amwer qiiETies Sl @ weted T8 8 7 1
A) foamg
(B) TG o
(C) forraa
(D) fem

2. = %o, i (A) 3t HRw (R) few e # | el Y ufgw 3t @) foehe ot

Wﬁﬁﬂl: 1

atfireRem (A) : i o faftm fewal § wfeemd wmfed g3 ot @ atferi o forg stigiem
feam |

HROT (R)  : TiEcal & eIl 1 3299 SHihiTd 3R ITieiies Sfie  oft Toar o 1
21

ferepea

(A) (A) 3 (R) Sl =&l & 31 (R), (A) 1 @&l e & |

(B) (A) 3R (R) EHI ®El &, W (R), (A) hl el =A@ 21 ¢ |
(C) (A) 971 7, W (R) T 2 |

(D) (A) Terd 8, Wi (R) HE1 8 |

3. Tr=ferRad @ @ i a1 THehel fova o SRR &1 T8 T §4 3 ? 1
(A) TETRITE TR
(B) Eaefaes TSiaa
(C) B TSR
(D) CArRAIA TEHR
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SECTION - A
(Multiple Choice Questions) (20 x 1 =20)
1.  Which one of the following matters do NOT deal with the ‘Family Laws’ ? 1
(A) Marriage
(B) Adoption
(C) Inheritance
(D) Finance

2.  Two statements are given below as Assertion (A) and Reason (R). Read

the statements and choose the appropriate option : 1

Assertion (A) : Women in different parts of the World organized

themselves and agitated for equal rights.

Reason (R) : Women’s movement aimed at equality in personal and
family life as well.

Options :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is the not correct explanation of (A).
(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

3. Which one of the following is the most popular form of government in the

contemporary world ? 1
(A) Dictatorial Government

(B) Constitutional Monarchy

(C) Military Government

(D) Democratic Government

32/1/3 {5 > E’%’E P.T.O.



4. TWH-A 3 EH-B 1 farer Hifsre 3 g fereped w1 = hifse

wWH-A w9 -B

(Fererar) (w=h/ ferar)
I 1. GHadi g
1. g 2. wAEH
1. foeme 3. TAEH
IV, FEEEEwRIT 4 IEfE faw

A 4 3 1 2
B 3 4 1 2
©) 4 1 3 2

O 2 3 1 4

5. < g %A, 3o (A) 3R R (R) feu mu E | Sl @ ufer 3t @ fasheq 1
T HIT ;
atRreRem (A) : T Alshd T STCATR |
HRUT (R) : AT TiTfereh Arfier w1 foedR o6td 2 |
fremea
(A) (A) 3 (R) gl &2l € 3 (R), (A) A ot e 2 |
(B) (A) 3R (R) gl &El &, W (R), (A) %! el =Te & 2 |
(C) (A) =&t 2, Afer (R) T 2 |
(D) (R) Terd &, ifehd (A) W& § |

32/1/3 @ E%E



4. Match Column — A with Column — B and choose the correct option :
Column - A Column - B
(Subjects) (List/Subjects)
I.  Defence Concurrent List
II.  Police Union List
III. Marriage State List
IV. Computer Software Residuary Subjects
Options :
I IT I11 v
A 4 3 1 2
B) 3 4 1 2
© 4 1 3 2
D)y 2 3 1 4
5. Two statements are given below as Assertion (A) and Reason (R). Read
the Statements and choose the correct option :

Assertion (A) : Elections are the spirit of democracy.

Reason (R) : Elections expand Political participation.

Options :

(A)
(B)
©)
D)

32/1/3

Both (A) and (R) are true and (R) is the correct explanation of (A).

Both (A) and (R) are true, but (R) is the not correct explanation of (A).

(A) 1s true, but (R) is false.

(A) 1s false, but (R) is true.
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6. T seaR W fmfefad sweuai w foem i 3 ol fashed 1 == i :
I. g cliohad ol Heled HidT B |
II. I AT THg! o s ey i %HH HT 1 |
I11. I8 Tsi-ifoeh feuran i giafvad sear g |
IV. ¥ gl o s ammifere — 3Tffeh wed o 2 |
foreheu
(A) 1, 11 3R III
B) 1L I SR IV
(C) I, 13RIV

D) I, 13RIV

7. TafaRaa @ @ = @1 ko 1 e Ea R 7
A) frder
B) =R
(C) WmEHR
(D) e @fefd

8.  hidl Ueh AT H k1 hidl 2 | 98 Frafird &9 8 wd % 370 § Ia- T HLdl 8 | 99
JTATE 38 TR g Feiied femi & 31gaR glawmd fierd € |

i feforfad @ & fora g o v FE R ?
(A) TfSa &
(B) 3rETsd &=k
(C) wrefirh &=k
(D) =g &%
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6. Consider the following statements on Power Sharing and choose the

correct option : 1
I. It deepens democracy.

II. It helps to reduce conflicts among social groups.

III. It is a way to ensure political stability.

IV. It brings socio-economic struggles.

Options :

A) I, ITand III

(B) II, IIT and IV

(C) L IIIandIV

(D) I ITandIV

7.  Which one of the following is a formal source of credit ? 1
(A) Relative
(B) Trader

(C) Money lender

(D) Cooperative Society

8. Kanta works in an office. She gets her salary regularly at the end of every
month. In addition to the salary, she also gets other benefits laid down by

the government.

In which of the following sector Kanta is working ? 1
(A) Organised Sector

(B) Unorganised Sector

(C) Primary Sector

(D) Quaternary Sector

32/1/3 {9 > E’%’E P.T.O.



9. uH AT foh s & # IR ufer & 3 gkl wifdss 3 T 10,000, T 20,000,
% 30,000 3R T 40,000 & ot & 61 3w 311 fehat arft ¢ fe & @ wiet foehed g -

(A) T 25,000
(B) 30,000
(C) T20,000

(D) % 10,000

10. fraffea § & S w1 e gk 2 7
(A) el & —  HRI
B) fyfmsdas - R
(C) Tftah &k —  ZIehd R
(D) =gd &H  — =l

11. frferRaa & & 61 @1 SgUgR Hut o ot T Y@ oY 2, 99 98 Ush T Hut &

1Y Y IcATE T T HLA 8 7

(A)  TEUEE o, T ot % 1 ThaH deh-iieh | L B |

(B) &gUEH ol Scarer & quft wcet 3 hiHd o il R |

(C) wEUEE Sl 79t weermTd Aifa i T St & T e il B |

(D) wEUEE ST T SHufEi o |1 3= 3R qieries FeY s § |
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9. Assume there are four families in a locality. If the monthly income of each
family is ¥ 10,000, ¥ 20,000, ¥ 30,000 and % 40,000, then what is the

average income of the locality ? Choose the correct option from the

following : 1
(A) T 25,000
(B) 30,000
(C) T20,000
(D) 10,000
10. Which one of the following pair is correctly matched ? 1
(A) Primary Sector - Fishermen
(B) Secondary Sector - Priest
(C) Tertiary Sector - Basket Weaver
(D) Quaternary Sector — Gardener

11. Which one of the following is a major benefit to an MNC when it works on

joint production with a local company ? 1
(A) MNC shares its latest technology with the local company.

(B) MNC decides all parameters and prices of the product.

(C) MNC shares its institutional policy with local company.

(D) MNC built good and familial relations with the local company.

32/1/3 {1 > E’%’E P.T.O.



12. SHET % &9 i FHfefaa faRivdisti &1 39 mgw & 91y e Hifve st g
Toreheq <1 == hifva

fergtean e
a. o gs et I weed
b. AA-BY Had II. FhEa i aard
c. IHWA Uf I ATl III. wifs
d. qEER IV. 31l e

forerea

a b c d
A I I II 1
@ 1Iv 111 1 1
© I 1 IV III
MD) ImI1 1Iv 1II 1

13. fr=fafad ® @ &4 @1 yge] ot 3. sragat 3 3. 9. TARET ARt % e § TmH
a1 e

(A) TR | i -oaeee W oig forg |

(B) wfgctat o Tval W Yehrel SIeHT |

(C) HTE=hfeh foRTHd % TR H SFTEhdl SH |

(D) R T ITh T Taear & fore I e |

14. Tr=forRaa o & frem Wit ® ugel gl 371 S0Td ST Shl T 6T 7
(A) I.IAXEL.

(B) GRNIH T
(C) RS, =&

D) orpte
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12. Match the following attributes of allegory of Germania with its

significance and choose the correct option :
Attributes Significance
a. Broken Chains I.  Heroism
b. Breast-Plate with eagle II. Readiness to fight
c. Crown of oak leaves III. Strength
d. Sword IV. Being free
Options :
a b c d
A) I II 11 v
B 1v I11 I IT
© I I v I11
(D) III v IT I
13. Which one of the following aspects was common between the writings of
B.R. Ambedkar and E.V. Ramaswamy Naicker ?
(A) Wrote on the caste system in India
(B) Highlighted the experiences of women
(C) Raised awareness about cultural heritage
(D) Motivated Indians for their national freedom.
14. Who of the following set up the first Iron and Steel industry in
India ?
(A) J.R.D.Tata
(B) Purushotam Das
(C) R.G. Saraiya
(D) Thakur Das
32/1/3 {13 > E’%’E P.T.O.



15. freferRaa ot wremshite e | sHafera Hifve 3t & fased w1 =z il
I  Sicd g8 are | ST=gH GgTehly <hl T |
II. s wiftwat 3 fom Tgl & e g fovagg fser |
1. =R fmfar 218 w1 1, Icared & fou ‘il ogd ggfa’ o1 319 |
IV. ofee sreferawensii 3 e &1 ‘G-77 Gqg’ % &9 & wrfsd ok |
ferepeu
(A) IIL II, 13RIV
B) I, IIL III3WIV
(C) IV, III II 31

(D) IV, II, III 3R I

16. Frefoiiaa STept i FETedT § wHe i Tg= hifo 3R Fel foehed w1 == Hife
o I TH( TH HEEYY! SIS I HEA B |

e WEHAFIAR I

o 38 I % fore 32 Hiww it ueh o fordt Raeft 4o <1 rrarwrehar it 2 |
o  3HH W50 & 75 cm STfe Il Y HATerwEHAT BN 7 |

forepea

@)

(B) wHe

(C) =mad

(D) =T
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15. Arrange the following in chronological order and choose the correct option : 1

I The Bretton Woods conference established the International

Monetary Fund.
II. The Second World War broke out between the Axis and Allied

groups.

III. A car manufacturer Henry Ford adopted the ‘Assembly Line Method’
for production.

IV. The Western economies organized themselves as a group — ‘The
Group of 77.
Options :

(A) IIL IL, I and IV
(B) L IL III and IV
(C) IV,IIL, I andI
(D) IV,IL I and I

16. Identify the crop with the help of the following information and choose the

correct option. 1

. This is the second most important Cereal Crop.
. This is a Rabi crop.

o It requires a cool growing season and bright sunshine at the

time of ripening.

. It requires 50 to 75 cm annual rainfall.

Options :
(A) Wheat
(B) Maize
(C) Rice

(D) Sugarcane
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18.

19.

20.

fforfiaa oot & & foped gg st fa 2 7
&) afreag

(B) A

(C) 3Ty ™

(D) HACH

ferferfiaa & & % w1 7w gAfa 2 7
(A) FedlgHa  — T HT AGH
B) Frfige - fmwew &=
©€) yhge - Rt Ee
(D) AN T — TREIAT &

fforiga 2uni & @ fopaeht St 3 ww Gurferd 31y Teiush 2 7
(A) 9

(B) e

(C) W

(D) wIfhEa™

fraforRea deamt & @ i 1 YR & TSR Heeft tieheg 3uetsd a8 ?
(&) T wifereh e

B) Hifa smm

(C) g g %

(D) s HaT 3TN
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17. In which of the following States Tungabhadra Dam is located ? 1
(A) Tamil Nadu
(B) Kerala
(C) Andhra Pradesh
(D) Karnataka

18. Which of the following pair is correctly matched ? 1
(A) Alluvial Soil —  Gangetic Plain
(B) Black Soil —  Himalayan Region
(C) Arid Soil —  Western Ghats
(D) Laterite Soil —  Desert Area

19. Which of the following countries has the highest ‘Life Expectancy’ at the

birth ? 1
(A) Nepal (B) Bangladesh
(C) India (D) Pakistan

20. Which one of the following organization is providing data regarding

employment in India ? 1
(A) National Statistical Office

(B) Niti Ayog

(C) National Informatics Centre

(D) Public Service Commission

32/1/3 {11 > E’%’E P.T.O.
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e
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(FTg -3 W)

25.  “EIY hl BUTE h! STE AThAeh 0T o 3T W & I H 0T 3hiTd G935 |7 9 e hi

SeTeT afgd s HIf | 3
26. 3R TG I ¥ T o foheal dI ST 3h1 SATEAT HITT | 3
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21.

22.

23.

24.

25.

26.

27.

SECTION - B

(Very Short Answer Type Questions) 4x2=28)

Imagine that you are the village Head. Suggest any two activities that you
think should be taken up to increase the income of the villagers. 2
Explain any two features of Intensive Subsistence farming. 2
How has caste system in modern India undergone great change ? Explain. 2
(a) Explain Romanticism as a cultural movement in Europe. 2

OR

(b) Explain Frederic Sarrieu’s dream in the context of democratic and

social republics in France during 1848. 2
SECTION - C

(Short Answer Type Questions) (5x3=15)

‘The shift from hand printing to mechanical printing led to the print

revolution in Europe.” Explain the statement with examples. 3

Explain any three ways through which industrial pollution can be reduced. 3

(a) Explain any three functions of the Reserve Bank of India. 3
OR

(b) Explain the role of banks with regard to money which they accept
from the public. 3
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Qug - (4 x 5=20)
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30. (a) WA hi 3Rk 3R Terifaes feafa w wem fova g o wumai 1 faveryo Hifsw |
ST

(b) 19 Tt % 3nReT & WA § UyaTe % foeht | wAiehehenaq TR Teftehi <l fireht
fergetor KT |

31. (a) YRa ¥ FE 3 A1 diEed & e 91 uftesd form v Temaqel @ 7 =
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ST
(b) WA < Y Uiae shi Tq@ foeraratt i smen HifT |

32. (a) ‘ot g o @rkad o e & fore W wmel ? 17 39 e i Sarew wfga gfy
i |

AYA

(b) “cArehaa gt graTer-3mfie 3t ToHifaes TRenatl o1 gHTa™ o Hehat B 17
Tehi Afed 30 HeH H1 gfE Hifw |

33. (a) “faesht =amam & Iedietr § U it srigiE T W Hifqra gfen Wt 2 17
YA I SRS HIT |

AYA

(b) Taesf fraw i sTrerftda @ & foru faermasfier eoi gr Sere e fordl ut=r Surat <
ST <HITT |
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28. Explain any three challenges faced by Political Parties in India. 3

29. ‘The question of sustainability of development raises many fundamentally
new issues about the nature and process of development.” Explain it with
examples. 3

SECTION - D
(Long Answer Type Questions) (4 x 5=20)

30. (a) Analyse the implications of First World War on the economic and

Political situation of India. 5
OR
(b) Analyse the role of folklore and symbols in the revival of nationalism
in India during late 19th century. 5

31. (a) How are waterways an important mode of transport for both

passenger and cargo traffic in India ? Explain. 5
OR
(b) Explain the important features of Air Transport of India. 5

32. (a) “There is an overwhelming support for the idea of democracy all over

the world.” Support the statement with examples. 5
OR
(b) “Democracy can address all socio-economic and political problems.”
Support the statement with arguments. 5

33. (a) ‘Liberalization of foreign trade involves policy framework at National

and International level.” Explain the statement. 5
OR
(b) Explain any five steps taken by the developing countries to attract
Foreign investment. 5

32/1/3 {2 > E’%’E P.T.O.
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34. feu e Hia ®i ufeu 31K 3 A= fu e yei o 3 i :
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SECTION - E
(Case Based Questions) Bx4=12)

34. Read the given case and answer the questions that follow : 4
CONSERVATION OF ENERGY RESOURCES

Energy is a basic requirement for economic development. Every sector of
the national economy — agriculture, industry, transport, commercial and
domestic — needs inputs of energy. The economic development plans
implemented since independence necessarily required increasing amounts
of energy to remain operational. As a result, consumption of energy in all
forms has been steadily rising all over the country. In this background,
there 1s an urgent need to develop a sustainable path of energy
development. Promotion of energy conservation and increased use of
renewable energy sources are the twin planks of sustainable energy. India
is presently one of the least energy efficient countries in the world. We
have to adopt a cautious approach for the judicious use of our limited
energy resources. For example, as concerned citizens we can do our bit by
using public transport systems instead of individual vehicles; switching
off electricity when not in use, using power-saving devices and using non-

conventional sources of energy. At last “Energy Saved is energy produced”

(34.1) Why is sustainable energy a key to sustainable development ? 1
(34.2) Why is consumption of energy rising in all over India? 1
(34.3) Explain ‘Energy saved is energy produced’. 2
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35. feuwu Ea 1 gfeu 3R 3H = feu gwat o1 3w feflaw
T3t % forg aremw
T IUNIHT FeT H 1 Teh alienT TRl &1 8 | S fop 319 ST &, fosiom forfiet

IcATE] ol TN 3T IS 1 2d & | 9 @ sl Hi 98 ¢d & I T S der e

e 2 | 3T 51w el g # ¥ et 9Ri ww fawon =10 g E | sreerl, ufieene,
B, damd, Tehfast % W W, wa w8 fomm o1 gu # | dfeT 3R & sfoem §
8 get <€ df vl =retan ® fop afeietr Y Seand @ & fommot 3 fafim saaei %
TSR 1 et § 37 Teh Tf} IUIRT G&hfa To 0 319t Hfireht f1mg 2 |

9 H=et & STl 4 WA § ST S=A1 E A 11 F $hug % Sl W oad o
& | TISCT T WIAIGT I8 BIAT AT foh WG ol U T ATH & IcATGH oh S8 Tl = STt
oft | vea & < 6T urEan 1 ek ot or | 9 foRe ciee W AR S1ei # CHE 31
et forat fewms <ar a1 wlierl i wuet wiied # foret atg w1 gt i @ar o |
(35.1) TSI GRT WA H Swq 3t o1 foasmoe fore wepm foka Sram e 2

(35.2) IR YA o S foRITIAT & W1ea & TT IUHTHT hdl o 7

(35.3) TEmiiertur o QU Tt o dreaw & few e gewT <t s e Hifw |
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35. Read the given case and answer the questions that follow : 4
Market for Goods

One way in which new consumers are created is through
advertisements. As you know, advertisements make products appear
desirable and necessary. They try to shape the minds of people and create
new needs. Today we live in a world where advertisements surround us.
They appear in newspapers, magazines, hoardings, street walls, television
screens. But if we look back into history, we find that from the very
beginning of the industrial age, advertisements have played a part in
expanding the markets for products, and in shaping a new consumer
culture. When Manchester industrialists began selling cloth in India, they
put labels on the cloth bundles. The label was needed to make the place of
manufacture and the name of the company familiar to the buyer. The
label was also to be a mark of quality. When buyers saw ‘MADE IN
MANCHESTER’ written in bold on the label, they were expected to feel

confident about buying the cloth.
(35.1) How was the marketing of goods done in India by the British ? 1

(35.2) How were the new consumers created through advertisement

during colonial India ? 1

(35.3) Identify the messages conveyed through advertisements during

industrialization. 2
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36. feuwu gra 1 ufgu 31 3ues A= few e aa yeat 1 3o fefige 4
WRA # ereriienton
I ehg 3 TST TUhR Y NTehal Aehd T TR ohl € ST @ a1 36 Gl o
Torchgiontur had 7 | fochdlento o e gfamdt @i o8 B T 3™ Hei 3R dwensti &
frgern v« w & sfear @1 @ 2 wehar 8 | AT 1 379 Solteh bl HHENSAT hl
ST T Bt & | AT I 39 o1 b1 W 378! THHRR BT & foh 6T sl @ fohaT ST
3R <A 1 A1k HureTar & IUAT fohe atg foRem ST TehdT @ | Sk STSTTET TR T

G AR ! HEell § e qrfieR s9MT W S9e 8 ST @ | S99 AlehdiiEes Wriier shi
3Ted USdl 8 | AT ThRT <hl TATHT T-3MTHT o Slehdii=eh [Hgid ohl arieieh s

&1 g9 37T dhT & |

Terehdientor <t S&ta g Efae | off wiierr hl 78 | 35k 91 @ Tl 3 WL
T I GAT o TIehgiehtur <hl g IR g5 & | Tt U1 H 7119 o & o T T=mdi 3R
U H FRaTfreRtatt h TmeEr h 1 off | W IR UsT Wi o @Y e § @ mn

o |
(36.1) <iiehad | “Tarehiehtor 1 TI8 HIfT | 1
(36.2) <Aehad | TATT T8 & T ol T HIT | 1

(36.3) Tarehglentur & fet WA TTHR gRT 33TC MU feohedl & SR T A0 HITW | 1 x 2= 2
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36. Read the given extract and answer all questions : 4

DECENTRALISATION IN INDIA

When power is taken away from Central and State governments and
given to local government, it is called decentralization. The basic idea
behind decentralization is that there are a large number of problems and
issues which are best settled at the local level. People have better
knowledge of problems in their localities. They also have better ideas on
where to spend money and how to manage things more efficiently.
Besides, at the local level it is possible for the people to directly
participate in decision making. This helps to inculcate a habit of
democratic participation. Local government is the best way to realise one

important principle of democracy, namely local self-government.

The need for decentralisation was recognized in our Constitution.
Since then, there have been several attempts to decentralize power to the
level of villages and towns. Panchayats in villages and municipalities in
urban areas were set up in all the States. But these were directly under
the control of State Governments. Elections to these local governments

were not held regularly.
(36.1) Explain Decentralization in democracy. 1
(36.2) Explain the importance of Local self Government in democracy. 1

(36.3) Describe any two steps taken by Indian government for

decentralization. 1x2=2
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Qe -« 2+3=5)

(vt enenfia )

37. (a) YNd o feu Tu ToHifas -t W g THET (A) 3R (B) & &9 H 3fed fay
2 | TS ARl FEEdT € 3% YEeEY 3 3k grE @ik 718 WW@ish w
37 TEl I fafgu | 2

(A) 98 T &l IR TER 10 1 31fraee fadew 1920 1 ga1m o |
(B) 9% T WTE1 HETcHT Tiet § THeh 1T ST T |

(b) a o gt {@-aHtes @ Rrafafaa 3 @ foaedl @ 1 suge fusl @ auisd st
3o T forfau 3
(i) eFE Y
(i) TRIGE AT Hert
(iii) O R oFTATS ITeh

(iv) IETT A v

e : hact givaiie e % fore uvE wen 37 % A W E | (5 x1=5)
Teregl utar wea1 o I IR :

(37.1) 39 TT 1 A TorRa Srgt vyt g s o StfeasH fadsr, 1920 # g3 o | 1
(37.2) 38 U o1 A1y fetfaw St mefsft 3 T9eh 1 arel | 1
(37.3) 39 T 1 1 feiRay el geter sty fera 2 | 1
(37.4) 38 UsT 1 W feARaT STl arIge weT] §94 fRrd 2 | 1
(37.5) 38 TsY 1 T feafaw Sraf ot Tived=r Taiatisl ameh fedrd 2 | 1
(37.6) 39 T &1 A4 forRan Srgt wrrgiv agel va- fem 7 | 1
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SECTION - F
(Map Based Questions) (2+3=5)

37. (a) Two places (A) and (B) have been marked on the given outline political
Map of India. Identify them with the help of given information and

write their correct names on the lines drawn near them : 2
(A) The place where the session of INC was held in September, 1920.
(B) The place where Mahatma Gandhi broke Salt Law.

(b) On the same outline Map of India, locate and label any THREE of
the following with suitable symbols : 3

(1) Hirakud Dam
(11) Tarapur Atomic Power Station
(111) Pune Software Technology Park

(iv) Paradip Sea Port

Note : The following questions are for Visually Impaired
Candidates only in Lieu of Q. No. 37. (5bx1=5)

Attempt any five questions :

(37.1) Name the place where the session of INC was held in September,

1920. 1
(37.2) Name the state where Gandhiji broke Salt Law. 1
(37.3) Name the place where Salal Dam is located. 1
(37.4) Name the state where Tarapur Nuclear Plant is located. 1
(37.5) Name the state where Pune Software Technology park is located. 1
(37.6) Name the state where ‘Paradip’ Sea Port is located. 1
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Map for Q. No. 37
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